2 At < e
9| IR&f<FrRWpERFHLERI | 9 | - o
1A
NS £#7 wm%(R0) 1 T bl 1 1 O NS #le# # £%(FC) 8
EW st HARPO apie EW 1<% #a#(R0)
g# | pL | &5 ol 4 MEz ik REAA | COP Datum
¥l z9zmx [ NS | EW | 25z2% | NS | EW | #1 | #10 | #1 [#10] #1 [#10 || Mean | Ns EW
17 | N |None 3NS-1 50 3NS3 400 450 10 NS100 -4 -7
18 E NS 2HS3 140 4HS-1 100 240 6 NS30 3 4
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17 | N |None 3HN3 140 1NS2 120 20 1 NS100 1 -1
18 | E | NS 2SE2 110 2HS2 110 220 6 NS30 -4 -2
19| S | EW 4HS6 480 3SE-1 100 380 9 NS430 2 8
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21| N | NS 4SES5 450 4SE4 420 30 1 EW340 -3 2
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Kl z9zmx [ NS | EW | 25z2% | NS | EW | #10 | #1 |#10] #1 |#10] #1 Mean | NS EW
17 | N [None 3NS3 400 3NS-1 50 450 10 NS100 7 4
18 E NS 4HS-1 100 2HS3 140 240 6 NS30 -4 -3
19| S | EW 4HS6 480 4HS6 480 NS430 2 -2
20 | W |Both 3NS4 630 1NS4 180 450 10 NS350 7 5
21 N NS 4SE-1 50 4SE5 450 500 11 EW340 9 3
22 E EW 4SS-1 50 1SS-1 50 NS50 -3 3
23 | S |Both 2CE3 110 2CE2 20 20 1 NSO -3 3
24 | W |None 4HS-1 50 4HS-1 50 NS40 -3 3
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17 | N |None|  1NS2 120 1NS5 210 20 3 NS100 | 1 -3
18| E | NS| 4sXE- 100 4SE-2 100 NS30 | 2 .2
19| s | EW 4HS4 420 4SXE-2 | 500 80 2 NS430 -2
20 | W |Both|  3Ns4 630 2DW-2 200 430 10 NS350 | 7 4
21| N | NS 5SE-1 50 4SE5 450 | 500 1 EW340 | 9 3
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17 | N |None 3NS-1 50 2SW2 110 60 2 NS100 -4 5
18 E NS 3SE-1 50 3SE3 140 190 5 NS30 1 5
19| S | EW 4HS5 450 4HS6 480 30 1 NS430 1 -2
20 | W |Both 2NS3 150 3NS3 600 450 10 NS350 -5 -6
21 N NS 4SE4 420 4SE5 450 30 1 EW340 -2 3
22 E | EW 4SS4 420 3SN3 140 280 7 NS50 9 -3
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17 | N |None 1NS3 150 3CN3 110 40 1 NS100 2
18 E NS 3SE-2 100 3SE-2 100 NS30 2 -2
19| S | EW 4HS6 480 4HS5 450 30 1 NS430 2 -1
20 | W |Both 3NS3 600 2DW-2 200 400 9 NS350 6 4
21 N | NS 4SE5 450 4SE5 450 EW340 -3 3
22 E | EW 4SN-1 50 4SS-1 50 NS50 -3 3
23 | S |Both 2CE-2 200 3NE-4 400 200 5 NSO 5 -9
24 | W [None 4HXS-1 100 4HN-1 50 50 2 NS40 -4 3
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17 | N [None 1NS2 120 3HN3 140 20 1 NS100 1 -1
18 E NS 2HS2 110 2SE2 110 220 6 NS30 2 4
19| S | EW 3SE-1 100 4HS6 480 380 9 NS430 -8 -2
20 | W |Both 2NS4 180 1NS4 180 NS350 -5 5
21 N NS 4SE4 420 4SE5 450 30 1 EW340 -2 3
22 E EW 3SS3 140 4SS-1 50 190 5 NS50 3 3
23 | S |Both 3CW3 110 2CE2 20 20 1 NSO -3 3
24 | W |None 4HS-1 50 5CXE-2 300 350 8 NS40 -3 -6
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